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B. Solutions of equations and mequahtxes
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8. Forwhatrealnmnbersxis Fex-12= 0‘7 - (ﬁ Lf)‘“ * )
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14 ¥ M (-2 3) isthe mdpomt of segment PO and the coordinates of 2 are (—8 5) find the coordkinates of Q

DAH b (-108) EL-—4) &) (-5,4)

15. The graph of /() =(x—~5)" is the same as the graph of f(x)=»* except that it is shifted

8) five units down . b} five units up ¢) five units to the left @ﬂive units to the right

(4-tb) = n-y i)

16, What quadsant is the vertex of F(®) =-3x—2) +6in?

a) I - DN o) HI 4 IV




17. Does y =4x--3 cross the x-axis, y-axis, neither, or both? -

ajx-axis b) y-axis c)neither =~

18, An equation of the line that cotiains the origin and the poﬁnt -2,3) is

EX My=—3x 9 y=-xt3 & y=2xt1

19, Pecide if the lines 2x+5y =6 and 5x—2y=1 are parallel, perpendicular, or neither.

a) paraliel

20, Which-of the following could represent he graph of y= x* ~ b7

) Db~ _(_—°°=°°_>'} Rango ~[1,) b) Domain = (-<,c0), Range=(,)
¢) Domsin = [1,e5), Range =(~0,00) 4) Domain= (L,«) , Range=(-0,®) |
23, Whightof the following best desoribes the set {(3,2), (LS, (5,7,(2, N T
a) finite set b) one-to-one fimetion ¢) function b, and c
24. Which of the following is the graph of y = .xz +29 ”
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D, Applications and other algebia topics

26. Fmdtheproduct- -J——u-\/? r J?”‘ \ Fﬁ ”m,( 1ﬁ oL, t}ﬁ = \m o
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3], Which of the following mainccs does not have an inverse?
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32. How many.ways can you arrange 4 books on a shelf?

2)30 b6 | &)10 e
N et

33, How many 3 Jetrer passwords can be formed from the letters A,B,C,D,B?

;}

120 @ 20 YO




34, How many differont committees of 3 people can be formed from a pool of 7 people? P LA
a) 21 B) 10 @ - 9ms 35«

35. Anoka Ramséy Cﬁmmunity College needs two additional faculty members, one in biology and one in math,

In how many ways can these two positions be fifled if there are four applicants for the blology position and
ﬁve for the math position? {n
L C: 4 -
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a)2 b)9 c} 40 11 (.3
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36, For jvhatvalues ofx ls?——;:—f .undeﬁned? (?( %&X ¥ ”’i) -2, 1
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o 8 Arectangular ga.rden, is 12 feet long Ifits area is 120 ft*, what is the width of the garden? »} 2 -

Wi

a) 108 fect oo d2feet . d)32feet

39, A boat ona nver travcls dOWnStl’Bam between two pomts 20 miles apart, in one hour. The return trip

against the cm?pt jtakasZAhoms What is the speed of the boat? iéyﬂg\) | et=
- &) 8mikr b) 16 mithr @4m1/hr d) 10 mi/hr - @“C)-?'“" e T . D
TR e : pe = g hiver
E. Fanctions and trigonometry ’ wo ) b $h =7 -
. e Y ) o | L=y
40, Find the x-intercepts of £(x)=4x* + x-3.. [ Ta 3 R

. Lf {3{{»-?){9‘% 3\
a) 0.75 and 1 b)0.75and —1 . c) ~0,75 and —1 @) -0.75 and 1

41. Find the y-intercopt(s) of /()= +2x ~5x+6.

(28 w9 D0

42. Which of the following is NOT the graph ofa function?




B f() =" ~3x+4, then f(a)— f(~Iy= 4"~ 34+ = ('Hﬁ% %3 »
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45. The graph of the function f(x)=¢* ~ 1 is .
/

a) always positive b) always negative @iways increasing  d) always decreasing

46. Bxpress the .,equation'in logarithmic form: 5° =125 Jog tas = 3

"a) Jog 5 =125 b) log, 125=5 c) log3=125 . . (d) g 135=3

. ® -
~ 47, Bvalnate the exprasgion: log, 64 =~ 7 ce”

8) 16 . b)32 R )4 N @
48, Which of the following equals }/.&‘? L :

L fAygm3e b) cos30° . ° 30" . &sin6l?
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College Level Practice Test for Accuplacer

/
A. Algebraie operations

x'—-49 T-x

x+1 x

1. Where defined, reduces to

(Jc2 —-49) (7-x) —x(x+7)
(:c+1)x ®) x+1.

a)

2(12 ~2

2. Where defined, ~——m ™
4a” +16a+12

reduces to

1 1

a b .
) 16a—4 ) a2

3, Factor 4 + 8x—12 completely.

a) @x+1)(x~12) p) [2G:-4)T

4. Bxpand (~x)(v—4)(2c+ 1).

a) 2x° —Tx" +4x b) 2% +7x* +dx

- 5 Give the exponential representation of the radical expression

) x*"’ b) x ¥
o 32
6. Evaluate (25] .
64
25
bl B ==
)128 ) 36

o ~x{x—7) a) 7(x* —49)
x+1 x+1
a-1 a+l
d
) Sard) ) 2ar6

¢) 4(x—1D(x+3) d)4(x-3)x+1)

Q) 28 472 —~4x  d) 2% Tt ~4x

ol

W
c) x4 d) x°
125 8
¢) — dy —
) 512 ) 5

7. S Tify x5 and eliminate any negative exponents. Assume all letters denote positive mmibers.
1mp Y neg ]

a) x b)ia‘
X

1 .
c):[;— &) Vx




B. Solutions of equations and inequalities

8. For what real numbers x is 2* —x~12=07

a) 4 and —3 b). ~4and 3 ~ ©) ~4and -3 d) 4 and 3

9. For what real numbers x is 3x* +5x~2 positive?

1 1 1
a) (——2,—3 b) (o0, ~2)and (?’WJ . ©) (—o,-2) d) (ch, -é—) and }(-—2, )

10. Solve for m: -—%(m—?») < —%(5 —m)

a) m>3 b) m<-3 c) m>-3 dy m<3

-11. Solve for x: (x+2)* =8, Be sure the value of x is in simplificd radical form.

o) xe2£248 b) x=:46 Coyx=2:8 & x=-2422

—

12, Afootof ¥ —Tx+3=0 is

R Yaika () b) 7+37 o AT o T
2 : 2 2
' IS.Ifol-—‘lle-‘?:O,then(x--a) = *
, ) . ’ 3 :
17 | 17 -
a) — [ 2) et > 5
9 ) 5 c) d) -~

C. Codrdinate geometry
4, If M (~-2,3) is the midpoint of segment £() and the coordinates of P are (--8,5), find the coordinates of 0.

)@D b) (-10,8) 0) (~1,—4) &) (-5,4)

15. The graph of f(x)=(x—35) is the same as the graph of f(x)=x° except that it is shifted

a) five units down b) five units_up c) five units to the left | d) five units to the right

16, What quadrant is the vertex of £(x) = ~¥x—2)" +6in?

1 I ¢) L 1V




17. Does y =4x+3 cross the x-axis, y-axis, neither, or both?
2) x-axis  b)yaxis ¢) nejther d) both
18. An equatioii of the line that coniains the origin and the point (-2,3) is
3 2 ' -3
a‘,)y 2Jc ) ¥ S\x- c) y=~2x+3 dy y 5 x+1

19. Decide if the Lines 2x+5y =6 and 5x~2y =1 are parallel, perpendicular, or neither,

a) parallel b) perpendicular ¢) neither
20. Which. of thefollowmg could 'féialfélséﬂt the graphof y=x* —b? ' . -
7/

Y b 9T >

' '21-...Whic_h of the following conld represent the graph of x* — ¥ =1?

T

E a}; l E b); l E c)\J/' d)

15 Determine the domain and range of the following graph:

a) DO@ = (~o0,00), Range=[1,c0) b) Domain = (—m,oé), Range =(1, )

;) Domain = [1,0), Range =(~c,) d) Domain = (I,0), Range =(-c0,%)
23. Whigl:ofthe following best describes the set {(3,2),(~1,5), (5,7),(2.6),(4,—6)} ?

a) ﬁﬁtc set b) one-to-one ﬁmctio;l ¢) function da,bandc

24. Which of the following is the graph of y=x"+27

e
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D, Applications and other algebra topics
26. Find the product: .J.—.E --\/——7

a) \35 | b) 35 ¢) 135 d) 35

27. Simplify (6-2i)".
a) 40—24i b) 364> c) 32—24i a) 40

SRR : 2
' 28. Find the value of (%% +1).

- o
)15 b) 16 c) 17 _ d)18
S i . 24 8
«.29, Determine the value of x in the geometric sequence {1,~ 39

12 12 16 16

12 o 12 16 16
" 36 ) 36 % =21 D

6 3| . :
30.Eva1uate|A]forA=[2 3]. B

2) 8 B)-12 ) 17 @24

e R AR A R T TR Ty e U

31. Which of the followmg mainces does not have an inverse?
S/

M P I

32. How many ways can you arrange 4 books on a shelf?

1

a) 30 )6 )10 d) 24

33, How many 3 letter passwords can be formed from the lettexs A, B,C, D, E?

120 b)60 )20 & 12

{0 1
d)l:

]




34, How many different cormitfees of 3 ﬁcople can be formed from a pool of 7 people?

a) 21 b) 10 ¢) 35 . d)238

35. Anoka Ramsey Community College needs two additional faculty members, one in biology and one in maih.
In how many ways can these two positions be filled if there are four applicants for the biology position and

five for the math position?
a) 20 b9 ' ¢) 40 dy 11
~4x+3
36. For what values of x 13———-—-——-— undefined?
¥ +x—
a) 2 and -1 b) 2 and 1 ¢) -2 and 1 d) 2 and 1
-1

_ - 37. Where defined, —~—~1—}3- reduces to
L 5 ‘ _ -
. :. 1 ) ’
e 8) y-1 b 0y H1
s %‘_ i 1 'JEJ’S;’&&‘&.‘\J&-\\ ,m;.e;‘:ﬁl S N MR .

£ 38 Arectangular garden is 12 feot long If its area is 120 fi2, what is the width of the gardem‘7 s

a) 108 oot 1) 10 foot ¢) 12 feet d) 32 feet

: 39.-A ﬁoﬁt ont & river fravels downstream befween two points, 20 miles apart, in one hour, The return trip
- against the current takes 2 % hours, What s the speed of the boat?

- ) 8 mifhr b) 16 mi/ht 6) 14 mi/hr d) 10 mi/hr
E. Functions and trigonometry
40. Find the x-intercepts of £ (x) = 4%* + x—3.

'2)0.75and 1 b) 0.75 and —1 c) ~0,75 and ~1 d) —0.75 and 1

41. Find the y-intercept(s) of f(x)=x"+2x" —~5x+6.

26 C B -5 c) —4 @0

42. Which of the following is NOT the graph of a function? )




43.0f f(x)=x*-3x+4, then f(a)— f(~1)=

a) @ —3a+10 b) @’ ~3a—4 cya’ -3a-+4 d) a* ~3a+12

44.If-%~==2", then x =
64

2) 6

b) -6 ¢) =5 D5

e T Jzﬁiﬁ'ﬁnxﬁt'ﬁ”#t-?ﬁf‘*ﬁm%tﬁﬁﬁ?&@ SR nﬁmﬂbﬁmmﬁm%&%ﬁﬁdﬂ T iﬂ IR R

45. The graph of the fanction f(x)=e"—1is
!

A

a) always positive b) always negative ¢) always increasing  d) always decreasing

46. Express thc equation in loganthm}c form 5 =125

gy

a)-_lo'g53_'=125 b) Iog3125 5 c) log,3=125 d) log125=3

47. Evaluéfe the expression: l'o.g,, 64

:'éi} 16 b)32 | c) 4 43

48. Which of the following equals %47 ,
‘a) sin30" b) cos30" c) tan30° d) sin60°

S 49; The féﬂdwingisagraphof y =sin® x+cos® x+%. Find the value of

a1l . b6 ¢) 4 d)5

50. How many ines with a slope of ~1 are tangent to the circlex” +y* =257

a)4- b) 0 c)2 dy1

T TY TS  ST,
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2 e imd 30y d @ 41; a
e 18)a° - 3Db | 42)d
4b 19b 32)d Y
5)b 200b 33)b 44y
6) ¢ 21)a e . 45)¢
Te 22)a 35)a 46)d
8)a 23)d . 36d 4nd
9 b 29)a 37 a 48) 2
10) ¢ 25)a - 39)b 49)d
14 260b - e 50) ¢
12)d 2N e '

13)b 28) ¢

14) a 29} d

15) d




a) 10
d) 144

13
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Cthasprasn triples

3

In this diagram of a box, A =5, w =9, and = 10.
Find 4.

\ }j?.;
EZ LN

2B 2 /0

q?n!r»/a?' = 1%l

b=/ 131

The pomt (3 8) 1s reﬂected in the y-axis. What is the
”1_mage of s

"EH

(4,9)---

a) \/@ b) F o) 43 m e) -12.3.
d= J@xp-mmrémmfm :
- gf (-2-&«\"%—{ 3aq)

T RO,
M

Wf?éw&-m% B
Sﬁ": 'ﬁ"&ﬁﬁméﬁf

Point P(—8,16) and Q(6, —8)} are the endpoints
of a line segment PQ. Point M is the midpoint
of segment PQ and point A is the midpoint of

segment M. What are the coordinates of A7
2) (-2,4) b) (~1,4) 9 (-42)
d) (%’ _2)

Deterzmne the chstance between the points (—2,3) and

10.

=P
< /i _C_E__ S I S é o ;"ﬁ [Wﬁmffzn -
) 7. 2= |

accuplacer review 2008

Date

The dimensions of the box shown are as follows:
h=35 w=35, and £ =5 What is the the length of

diagonal d7 y 1ol *@ﬁ)@
T2 2T 2

The point (5,2) is reflected in the z-axis. What is the
image of this point?

L 43!2’.’)

i

- What is the sum of the sbl'utio_'ns' of |3z — 3| = 157

a) —10  b) —2 c) O e) 6
Bz =15 Bz =il |
3}{‘;‘.’.1"5 2)(;"[2
= 4 X2
Point R lies on the line segment joining P({—7,8) and
Q(5,—4). If PR = RQ; what are the coordinates
of R? ' :
S A NS e
d) 16, —6) e) (1,6)
C Xetx @ it )
Roismldpt = Jitd
o ( :;L.i»’r* -
~Z ) B

= (-1,2)

Which of the following best describes the lines

y—3=4x and 6 — 2y = 8x?

a} coincident b} parallel @ntersecting
d) perpendicular e) skew
Y= 3 Ly da—t

M 43
Y= x o




11. What is the slope of all lines parallel to the line
x4+ Ty=-7"7

a) =% %

Py=Fr?
?9”5?’3"’* -

g -1 dE e i

13, In the diagram, DE || AB, CA =9, DA =3, and

14.
CE = 10. Find EB.
a) 2.5 b) 3 c) 4
d) 45 .
L %
e
15. The ratio of chairs to tablés at & certain restaurant is 16.

20 to 3. Hf fhere are 120 chairs in the restaurant, how
many tables are there? -

A 12 ) c) 24 d) 56 e) 120
20 o 1Z2  Zax TR
27 >< i a’x-;;(.jé
e NS SN
TRy NS C St ) L
p et
€) $+3':: d) _.1
e) 1
19, Find f~Yx) i F(z) = ?;+1-._ 20.
*) SF1 b) o1 g
d) 2(:(:—15 e) T—3
2
E Ig-{’“{
x=g !
Z

—

= g
joeysz  yzim S0

12.

Page 2

2 foot
rectangle with a semicircle on top as shown in the

diagram. Find the total distance aronnd the window.
Use m = 3.14]

A 9-ft wide window consists of a 5 foot by

£ )

a) 24.14fc  b) 20.28ft  c) 18.28% ‘rg R
4y 1628 {e) 1p.14f
- 5
W
2! L
’"é"i'n E‘f W,..-'—'{"'M
In the figure, NQ is parallel to OP and NQ =4,
OP = 6, and MQ = 8. How long is MP7?
a) 4 by 10 fe) 12 ) 0
d) 14 e) 16 N em
/ 4cm
Y /N
ATHUEE, S M 8 P
Lot W= .

rE-iiog

A Mexican restaurant serves tacos, fajitas, and
chalupas. If the ratio of {acos to fajitas to chalupas
is 7:5:3 and there were 210 tacos served, how many
cha ul'aascwwere served?

a) 30 ¢) 105  d) 150 ) 210 ‘?-:lfﬁr-'
= = 21043

3 L7

% m 30 _*3.4@

if f(z) =3~ 1 and g() = Az + 3, then flg(a)] =

b) 1222+ 135 — 3
~d) 12 -1

a) 1222 4+ Bz — 3 R
' c) Tx+2
e) 12z +8
Bl )i = et =T

e oa, Ak _z(=e
What is the value of 5T " =
— . 3 .
a) 24 b) 15 c) 6 Sd) 3. e) %
I
£




et AT R RS

o —10% /I0T By —5 4+ /37. 54 /37
’ @) 3 / 6 6
4y 10+ V101 10+ /101 o 10 ++/101
9 C
{5-}- 'ZS*‘% - §j~ \m

Lo

W ,
l(‘imd tan@ if cos@ = _a_ m}‘ @‘2‘ mﬂb

e*-‘

; {FM 2v/a+1 b 4{a +1) m?\/a + M’“’g
(ﬂ a) o+2 ) o+ 2 L/j
4(a+1) Va+1 g,
4) 7] °) 2a

. :ﬁ\w Lg‘,a ‘Mg - \{[@ﬂ)

If f(sr;) =2r+1 and g{z) = m—g»-—» then find: =

Y g\’i’”? 5) 2lsn)t
B}QFﬂ
) o
d) f [9(371)3

mg(2n+5) =

i

(2%*1}*1—1 Zu-i4+ 213 h
o) Flo®)] = 2{ 4} srs bt s[6]
’?f(ﬁ) e =[2)

ﬁ éﬁ»‘gﬁig J“ﬁ}gﬁﬁﬂ% gf é{éﬁ}}% ﬁ(ﬁﬂg

27. The para.boia, ¥y =52+ 20m + 14 will have

mmij

- b) a miammum at (-2, 10}

) @ minimum at (10, —86)

. b
d} a maximum at (-2, —6)
e) a maximwm at (—2,6)

Bz

29. Express & radians in degrees.

a) 8 b) 68° ) 145° [i@; e) 1508°
gnm@ uyo”
{ \2\ T}\ ”

(va? X

R - SRS s
-m”-:}- iumla E :ﬂ-lob"-i”i—‘_@.-gﬁ
N .
[fa =1 )

2 Y k"’“’q ) =Y
(x +2)" = y+s
ez ey ("' /’é)

22. Solve for x: "16%1 = g*

al m= -1 b} :x:ﬁ ¢} w1
P TN
*= .
4 wf 23
(2q ‘ =4 ) By~ 7 T
{: )}f’ ﬁ?} %{ -zw%ﬁéa

. If T2y + 2 =10 were graphed on the graph, at what,
< point would it intersect the line shown?

fmﬂ w—ﬁ@é ﬂﬁﬂfﬁ wf”m@’«gﬁ%
~h

26. What is the equation of the parabola that opens down
has a vertex V{(~3,0), and a y-intercept of —367

7mﬁyﬂgj

d) y_—_~—4m. -3
(5-0= A b
|j-~¢>_ rAm(XWF?)L

3

a) y=4(z+ 3)?
c) y=4z—3)?
e) y = —A(z — 3)?

““‘f’é)' a maximum ofE]

&) a maximum of —5
~- (\_{":qw”{) E N A |
w(x m2>"1ﬂ el ey @ (2_";“)

d) a minimum of 5

30.  Convert 108° to radians. Express your answer in terms

of =.
VE (VE /(9% o2 of
vg T SYT 2R 3
2" 4o 1y 5

Y= /-)-‘(x#?‘)_
S g = {06 ey {}w} L
W?ﬁ e .wﬂ?éﬁ%& g =53
(@ Bé») 7 . w<g
28. The pa:rabola y= —x% + 4z + 1 will have
(Y 1o
a} a maximum of 2 b} a minimam of 2




31. Which graph shows y = tanz 17

32. State the period of the function defined by

y = tan (%m) .
@ T b)>(' Ao s
) ) / + }"' a) 1 #Jb) 2‘1 ¢} & d)y = e) 21
A LT/
—2{ i {,, /Lf/’f o 4,% ‘) tan, not siasreey
& . ‘AE_T;)& O &£ TXRe 2l
D L LT 2ot , «
I I Do i & .
-4 5 S - i ' )"":\ j,gf- {1
ST T 3 =
, VA £ ;ﬂ’
- o
SO _ _.B_’_’
33. What is the pemo& of the function f{zx)= 2sin{Szf 34, Whlch of the foﬂomng equatlons describes the graph
i R = 'i shown?
a) 1 b} 2 e) w d) 2w fe) 4 . .
2 . ) a.) y:2sm% 2‘5‘3%\(\"@% __y
w0 Q';LL)( a2 : ( s b) y=1sing B
r ok e € BN "
o R c = sm@ , ) . e
D e \F - ."' . ) U NS sjmw’"‘ o .cn.‘év.[j.~»«~4 Lo

- 35. Which of the foﬂc'.)wiﬁg' is an equation having arii

[ A P “TT
L BCIRE T

c:ie, dz“‘“?ﬂ’:)f ‘*0’

36. a) The hne T +y = 4 intersects the parabola ’( .
amplitude of:3 and a period of 47 _ y =22+ 2 at points A and B. Detgrlmne the
: - coordinates of A and B. (" - !(a}';\} {4
a) y = —3cos(drz) b) y = —3cos =
o _,mmi)‘mf_w v b) If C is the vertex of the given parabo]a determme
c) y=3cos 2z’ d) y:Bgos:%{..;. the area ofAABC'._'” 2 ”‘é&' ) g
| - Sﬂ_x . : };? }qg‘%z:ﬁf \ I o"{ﬂ‘i-fl S’é@m& H‘ {J
°) y_3C°ST § ocx < . 45?[& e Og) A eightit toanle by
o cixe (v ‘ff““ﬁ\ ST - Sloges; pand w‘«emm’l
> f%ﬂtﬂx o & M 21 raet, _ o 9t baje 4 hoyis |
: : o G 4 L o 2 '
r sipe. 4 2 * R cid Bets /ziﬁ(zﬁﬂ
lmPIIY 2+cd 2 1mp 2 _a
. _d d “‘”‘""”M_«};’TT 2 — 5z + 8
b e
¥ ¢! —d e &) 9 (c+d) m+2‘1 b) (x + 2)(z — 2)
-i —d_ . d T+ 2
;ﬁ d)d(c —d) j °) d{c+d) ) z—32 d) z+2
L | )
e ——
- = Lopdx pl il -
- Dpety f § ‘ﬁ”ﬁg X twm‘mm .
(i) Ganles) ) - N
‘ g G (il
A(C —d 3 - Z,Cd Li-ah) 7 }ﬁ:ﬁ::“{iwi{é .
aéwﬁf}(f,..,.g £y T T
ol » 50 ) _
C(cf'ff\){ ) | a{c%%}f( /5} (k=B

s S p-g 3

&lesa Mot ["4’““” )(f “"ﬂ') \

)

;}“ gl 3

c:‘“‘*wsf?
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39. If cosé > 0 and tant? > 0 then in which quadrant does
§ terminate?

€) not enough information

b) 2 c) 3

41, When 4y — y? —dg + &y is factored, one of t]t({e factors
is y — 4. What is the other factor?

a) 4—y : c) z{4 - y)
d) ~y(y — =) e) y—x y( y«j) -;é x(-j ‘7’)'
““j (y- Lt) +*F (y=4)
b= -:ﬁ>
43. . Find the exact value of tan 210° NS 7z
. (” ,’ "V?/:, _3_
45. Find the exact value of sec225 epfrag®a
x”" g
47. Find the exact value of sir 5 fesws \r‘“"

A ;}_w;.l..

Simplify. k;,

49. sin®9 4 cos? 8 + tan?g
-[--‘épm & f m"hma % a’\>

. g-% %”f }

51. tan@. csc9

Siﬁ“ﬂ’““
Lol o

}a ﬂﬁy

53. tan?f+ tan?9 = geit 9 ~ sec? @ _
tﬂﬂ?"e- ( ! +{2ﬁ42é’> Zgecte (;&,3"’»9; =)
foa ( Saa“a) = Sectm C'&Qﬂeﬁ}

: §o 1, ’
fon besects = @@E%JE@? &

Evaluate.

]
“ |3

2] = - (-0

40.

42.

50

52.

If cos@ > 0 and tan6 < 0 then in which quadrant does
# terminate?
a) 1 b) 2
e) not enough information
When completely factored one of the factors of
242? — 4z — 8 is:
a) 3z+2 b) 2z -1 c) -2 d) 3z -2
e) th]S canzot be Factored v"é,,, -1
(éx - w’z.) b @;xw@')@m M} ' )“%tj'
_ . ;( mZ-)( Exw !\
Fmd the exact value of sin —__ .
; 'Fmd the exact valué 6f ‘csc120°
Find the exact value bf cos %1
tand
secd
Slnde -
o {?‘i?:
&'332@"'
tan? 0 csc? @ — tan? Besc?B = sec?p — se02 B8
ﬁw ; Slﬁ_‘é _ﬁj@e,g« _)ecfg
JM v oy " e 20 (f
! -
&% =4 ec o — Sec /5

65‘/’
L~ Sec '.:Lf%ﬂa’@“ “““5@&2" . V/
Secy — e /5 L

| = (k-




56. Name the 3 trig pwthdoorean 57. find the slope of the following

Ademmes " o lines and equations.

< wamj =l B)

N f g“‘vé‘ o) &}‘4 )( i

f® A sectx -
58. Simﬁhtv 0o A): ;

(42)" (4a +(22)%) o D eaTan

R R R N R T | :
"“{q T ‘:%? .
|

59. Find the intersection pomts and Oy 2+ 3}, g

then find the distance between the " D) 5x- 4} =12

intersection pomts for' S s o

a‘ . - s . - " } . . S
R mﬂa—-@%w>‘k
i Mot ase SN
y=2X (X,gxk_%,,) =3 [ 16 LY B Ww
%23 =1 | '\/"E»V“WQWJMWW%
j: gy T: ! : :

60. What is the ratio of the area of 61. Circle what is positive in ' ! f( L

circle A to the area of circle B? each quadrant. |

o ' - sin {cos
/ \ \ S - tan cot_| | '
| \_/ | . o Si cos. g

- N sec  es¢ |
5e é‘i @i ' AN gim F)
A |

= - - :
62. Point (4 4)isona L;rde whn;se 63. Find the period of
center is (0,0). F in radius of NVRE n LT
: Isind =x+5) < Txtg e iw
the circle. ~ ¥l "yryraa > ’ iy "i) v
\,; :“‘! . ‘M&%é@) d & X G 2T - s

mﬁg & 2 = B w?:v,
h é Vﬁ
(2VX + 3Vy)2Vx-3y) ex {3y

2{¥ Wy =247 30 5 35 E ~20Y 3

‘*m ﬁém "“@C Ay -k |

Ll LFE R =Ay wne mr : )
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Answer List
1. h 5v/3 units 3. 206
(5,—2) (~3,8) 6. 4
.d . b 9 e
0. ¢ 1. b 12 e
13. e 14 ¢ 15. b
6. b 17. a 18 e
19. b 0. ¢ 2, ¢ .-
22. e T3 e 24, (6,4)
25. -T; —4;9n—1; 3m; 6; 6 26. b 27. a
28 ¢ 29. d 30. b
il a 32 b 33 e _
34. d 3. b 36. 'A(1,3), B(—2,6); 3
5. 2 3. a 3. a
0. d 41 b 42 d
43 f YRR 5. /2
g6, BB 4T L 8. 0
49" sec29 50. .sinB_: 51. secd
Csmoin 53 54 8
A 3
56. sin’0 + cos20= 1 57. A) 0 58) 1+a
T + tan28 = sec20 B) undefined
T + sec20 = csc20 ) %
—
D) P
59} poinis of intersection are (3,9) and (-1,1) 60. 1 61, 1-all
distance between them is 4/5 16 I1 - sin, csc -
. I - tanm, cot
IV - cos, sec
62) 4v2 63) 3m

64) 4x - 9y




accuplacer review 2008

Name

Find the length of side .

a) 10 b)Y 12 ¢ 14 R

d) 144 ) 194 4

oy

In this diagram of a box, h =5, w = 9, and £ = 10.
Find d.

P . Y S

~ The point (3,8) is reflected i in the y—axis What is the
K 1mage of this point?

Determine the distance between the points (—2,3) and
(4,9)..

a) V142 b) V146 ) 4/3  d) 6vZ o) 12

Point P(-8,16) and Q(6,—8) are the endpoints
of a line segment PQ. Point M is the midpoint
of segment PQ and point A is the midpoint of
segment MQ. What are the coordinates of A 7

a) (~2,4) b) {~1,4) ¢) (~5.2)
) % } e) (%7—2)

(-2
(

4.

6.

8.

10.

Date

The dimensions of the box shown are as follows:
h=35 w=35, and £ = 5. What is the the length of
diagonal d7

i

The point {5, 2) is reflected in the z-axis. What is the
image of this point?

‘What is the sum of the solutions of |32 — 3| = 157

a) -10 b)) -2 c) 0 - dy2 - e} 6

Point R. lies on the line segment joining P(-7,8) and
Q(5,—4). If PR = RQ, what. are the coordinates

of R? :

a) (=6,6) b) (-1,2) ¢y (1,-2)

d) 18, —6) e) {1,6)

Which of the following best describes the lines

y—3=4r and 6 — 2y =8z 7

a) coincident, b) parallel c) intersecting

d) perpendicular ¢) skew




11. What is the slope of all lines parallel to the line
Jz+Ty=-77

a) —% b) f%

13. In the diagram, DE || AB, CA =9, DA =3, and
CE = 10. Find EB.

a) 25  b) 3
d) 4.5 e) 5

c) 4 L

o/

4 B

15. The ratio of chairs to tables at a certain restavrant is
90 to 3. If there are 120 chairs in the restaurant, how
many tables are there? .

a) 12 b)18 ¢ 24  d)56 ) 120
17.  Simplify: Sl AN T
Slmp.fy -9 22 15z+6
B .z'.+.3 (z—2)*
el PR ) S,
» 273 ) o=+
T3 .
°) x+3 4 =t
e) 1
| o2
19. Find f (=) if f(z) = =41
2 2 2
2) z+1 b) r—1 2 11—z
1
d} 2(z~1) e) T -

12

14.

1

i

s

6.

8.

'C?

Page 2

A 2-ft wide window consists of a 5 foot by 2 foot
rectangle with a semicircle on top as shown in the
diagram. Find the total distance around the window.
[Use m == 3.14] 15

b) 20281t
e) 15.14ft

a) 24.141%
d) 16.28ft

) 18.28f

Iz the figure, NQ is parallel to OF and NQ = 4,
OP = 6, and MQ = 8. How long is MP?

a) 4 b) 10 c) 12 o
d) 14 e) 16 W Sem
Aam
M 8em Q P

A Mexican restaurant serves tacos, fajitas, and
chalupas. If the ratio of tacos to fajitas to chalupas
is 7:5:3 and there were 210 tacos served, how many
chalupas were served?

) 30 b) 90 e) 210 ¥

¢) 105  d) 150

If f(z) =3z — 1 and g(z) = 4z + 3, then flg(z)] =

a) 12z + 55— 3 b) 12z% + 13z — 3

¢) Tm+2 d) 120 —1

e} 12248

Wt e b 40411

What is the value of e, ?

a) 24 b)) 15 ¢) 6 dy 2 e) %
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21, Solve 3z ~ 5z — 1 = 0 using the Quadratic Formula.

oy “HOEVIOL o 5V 5+ VE
YT N 9 T
10 /101 10 /101
d) —r— o) ——
9 3
/A
23. Find tan® if cosd = )
a+ 2
) 2va+1 b) 4(a+1) ) 2ve+1
a) Z¥IT - i Sl s Zyrr -
a+2 a-+2 a
a) 4{a+1) ) Vo +1
a 2a

e S —-1
25 If f(z) = 2z +1 and g(z) = mT, then find:

) f=

b) g(-7)=

) f(5n}—g(2n+35)=
). fle(3m)] =

¢) flo(6)) =

) glfe) =

27. The parabola y = 5z + 20z + 14 will have

a) a minimum at (—2, —6)
b) a minimum at {-2,10)

c} o minimmn at (10, —88)
d) a maximum at {—2,—6)

¢) a maximuin at (—2,6)

29. Express %-71 radians in degrees.

a) 8° b) 68°  c) 145°  d) 480°

e) 1508°

22.

24.

26.

28.

30,

Solve for z: 16% 1 = g*
b) ‘:"':,-il ) =1

d):r::% e) =4

If x — 2y 4+ 2 = 0 were graphed on the graph, at what
point would it intersect the line shown?

What is the equation of the parabola that opens down
has a vertex V(—3,0), and a y-intercept of —367

3

a) y=4(x+3)*
c) y=4(z - 3)
e} y=—4(z — 3)2

b} y= —4(z +3)
d) y=—42? -3

The parabola y = —~2% 4+ 4z } 1 will have

a) a maximum of 2 b} a minimum of 2

¢) a maximum of 5 d) a minimum of 5

e) a maximuom of —3

Convert 108° to radians. Express your answer in terms
of .

31,)2—5—7r b)?’s—" c)%7r d)%’ e) 3




31.

33.

- 35.

a) y = -3cos{dnz)

37.

s ILE: |
i

Which graph shows y = tan® + 17

L I t——
I3)

L
o
PR =
|

d) q e) 7

i
sty

What is the period of the function f(z) = 2sin3x?

a) & b) 2 c) m d) 27 e) 4w

Which of the following is an equation having an
amplitude of 3 and a period of 47

b) y=—3cos?~TE

2
¢) y=3cos2z d) y:?u:o.e;zzi'Ti
e) y—3cos—z—
e - 2d
Simplily: 2 d~F =@
e . ) d
b ——e =
2) ¢ —cd ) (et — d?) ) cle+d)
—d d
d} —— s
) W ) dexd)

32.

34.

36.

38.

Page 4 .'

State the period of the function defined by
y = tan (3z).

a) 1 by 2 ¢) % d) = e) 2w

Which of the following equations describes the graph

(-

shown?

a) y=2sind To

b) y = 3sind a]

¢) y=sind /\ : /\ L
d) y = 2sin26 B \/ \7
e) y:sin% -_J

a) The line z +y = 4 mtersects the parabola

y =« + 2 at points A and B. Determine the

coordinates of A and B.

b) If C is the vertex of the given parabola, determine

the area of AABC,

Slmphfy: m_:_i 22 4
z—3 2 — 5z + 8
B) e L
®) T¥2 ) GIDE—2)
z+2
d
C) r—2 )$+2
1
e) —=
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39. If cos@ >0 and tan@ > 0 then in which quadrant does 40. If cosf > 0 and tan# < 0 then in which quadrant does

f terminate? 8 terminate?
aj 1 b) 2 c} 3 d) 4 a) 1 b) 2 ¢) 3 dj 4
&) not enough information _ e) not enough information

41, When 4y — v — 4z + oy is facfdred, one of the factors 42. When completely factored one of the factors of

is y — 4. What is the other factor? - o 2422 — 4z — 8 is:
a) 4—y byz—y . ¢ z(4—y) a) Jz+2 b)2z-1 <) z-2 d) w2
d) —yly— =) e) y—~z o R e) this cannot be factored
43. Find the exact value of tan210° = ' ~44. Find the exact vahe of sin §
45. Find the exact value of sec225% " -+ o . 46. Find the exact value of csc 120°
47. Find the exact wvalue of sin330° - - 48, Find the exact value of cos %’5 .
- Simplify.
iy 2 5 . tan #
49, " sin“ # - cos® B + tan @ 50.
S sec
51. tan@-cscf _ .. S . 52. tan®0csc? @ — tan? Besc? B == sec? g — sec?

i

3. tan®# + tan®d = sec! § — sect g

Evaluate.
0 -2 @ 9
54. 4 _g} 55. A




' .E-j 60. What.is th.e ratio of the area of

56. Name the 3 trig pythagorean

; 57. find the slope of the following
identities lines and equations.

58. Slmpllfv
(4a)" (4a + (2a)")

59. Find the intersection points and
then find the distance between the
intersection points for:

Y‘_‘Xz SRR
y=2x+3 .

B)

AR

C) 2x+3y=

8

D) 5x -4y =12

circle A to the area of circle B?

N

61. Circle what is positive in
each quadrant.

sin  ¢os sin cos
tan cot fan cot
sec ¢€scC sec  ¢sc
sin cos sin oS
tan cot tan cot
sec  CS¢ sec  cse

62. Point (4,4) is on a circle whose
center is (0,0). Find the radius of
‘the circle.

63. Find the period of

2sin( %- <+ %)

64. Multlply
(2/X + 3/y)2Vx-3y)
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Answer Iist

accuplacer review 2008  4/19/2008

1. b 5v/3 units /208
4. {5-2) (—3,8) d
7. 4 . b . e
0. ¢ 1. b 12. e
13 e 14 ¢ 15. b
16. b 7. a 18. e
. b 20. ¢ 21, ¢
22 e 23 ¢ 24. (8,4)
25, —T; —4; 9n— 1; 3n; 6; 6 %. b 27. a
2. ¢ 29. 4 30. b
3l a 32. b 33. e
34 4 35. b 6. A(1,3), B(—2,6); 3
3. a 38. a 39. a
40. d 4. b 42. d
43. 4. 1 45, —/3
6. B 47, -1 48, 0
49, sec? @ 50. sin® 51. sec
B2 53. 54. 8
55;':1:34—9:1:'
56. sin”0 + cos20=1 57. AY 0 58) 1+a
1 + tan?0 = sec26 B) undefined
1 + sec28 = csc?8 5 _-g...
—_
D) P
59) points of intersection are (3,9) and (-1,1) 60. _1 61. 1- all
distance between them is 4/5 16 II - sim, esc -
HI - tan, cot
iV - cos, sec




